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1. Peter is the business head of a softiware development firm that wants to increase its market share to 35 percent in the next 5 years.
The company feels that the best way to go about this is to acquire smaller firms that have a promising talent pool. In his capacity
as a business head, Peter is required to plan how the company will arrange for the necessary finances for these acquisitions. Peter
is engaging in for the firm,

(A) standing planning

(B) production planning

(C) strategic planning

(D) tactical planning

(E) long term planning

2. As the regional manager of an accounting firm, Jenny is offen required to attend ceremonial activities like attending a social

function on behalf of the company or presiding at a farewell dinner of a departing employee. Which of the following is similar to

the given scenario?

(A) As a marketing manager, Argo's accountability to the firm lies in seeking extensive information and remaining aware of
crucial developments in the industry.

(B) One of Nina's responsibilities as a manager is to build corjtacts with important officials within and outside the industry.

(C) As the dean of a business school, Jack is always present at official functions like commencement ceremonies and
convocations to give away diplomas.

(D) In his capacity as a manager, Dennis is often required to solve conflicts within the organization.

(E) None of the above.,

3. Robert, a product manager, wants to increase the market share of his product. He is unsure about how to go about it, not knowing
for sure how costs, price, the competition, and the quality of his product wili interact to influence market share. Robert is
operating under a condition of

(A) certainly

(B) uncertainty

(C) programmed decision

(D) non-programmed decision

(E) risk

4. Alex was hired as the director of a company manufacturing refrigerators at a time when the company was financially unstable.
After analyzing the market carefully, Alex decided to change their marketing strategy. Alex's sound judgment did the trick, and
the company turned around and became profitable within two years. What managerial skill d1d Alex show?

(A) interpersonal skills

(B) communication skills

(C) technical skills

(D) conceptual skills

(E) all of the above

5. Jimmy has been appointed as the business head of Grand Hotels ahd Spas. He is requited to move to another country to oversee
the establishment of the company's new properties there. He hires teams to handle the construction, outlay, and design of the
hotels. However, authorities at the Ministry of Land and Resources are asking for payments in addition to the legally required fees
in order for the projects to move ahead. A]though Jimmy is against corruption, he makes these payments because a lot of
employee jobs are at stake.
Refer to the scenario above, which of the following is similar to the given scenario?
I) As an owner of a retail store, Joseph decides to cut off his supplier in order to switch to a different supplier with lower prices.
1I) Albert, who runs a sports goods company, declines an outsoufcing contract from a shoes manufacturer after learning that
working conditions at the factory were extremely poor.
IIT) Nina, a designer in Japan, refuses to pay for a damaged shipment of material that arrived via courier from India.
IV) Adam, CEO of a company, decides to pay a bribe because it allows his company to provide the greatest good for the greatest
number of people.
V) A forest officer allows a tribal community living in the forest to cut trees for the tribe’s personal use.
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(A) only I
(B) only III
(C) only V
(D) both II and TV
(E) both IV and V.

6. In corporate social responsibility scenarios, Pixel Inc is planning to upgrade its technology infrastructure in half year. However,
this move is likely to render more than half of its workforce redundant and a massive Iayoff is expected. Which of the following
statements is true in this scenario?

(A) The magnitude of the consequence is high.

(B) The concentration of effect is low.

(C) There is a high degree of social consensus.

(D) The probability of effect is low.

(E) The temporal immediacy is low.

7. When Mary arrived from Mexico to study in the U.S., she noticed a difference between the students in Mexico and the students
in the U.S. The American students felt comfortable asking questions, they were eager to share a thought or an opinion, and in
some instances they even contradicted the teacher. According ta Hofstede’s national culture study, Mary comes from a country
that has

(A) md1v1duahsm

(B) longer time horizon

(C) high power distance

(D) strong uncertainty avoidance

(E) quality of life

8. FarmChoice is a company that distributes fruits in South East Asia and is planning to enter the Middle East market. As the risks
are greater when entering new markets, FarmChoice's decides to join hands with another firm that has mutually desirable goals.
This way, they can share the costs and have access to each other's resources. Which of the following ways is FarmChoice's
implementing to enter a new market?

(A) exporting

(B) creating a strategic alliance

(C) licensing

(D) acquiring a local firm

(E) establishing a foreign subsidiary

9. Senior executives at NEC were unwilling to listen to younger scientists who said that LCD technology would appeal to
customers who wanted computer monitors with high resolution and a smaller desktop footprint. According to Lewin's theory of
change, this scenario depicts problems at the of the change process.

(A) unfreezing stage ‘

(B) changing stage

(C) refreezing stage

(D) engagement stage

(E)both Aand B

10. BlueDeer is a company that manufactures clothes. It has a lot of competitors in the market. However, it only builds its strength
around market segments that the other companies avoid. It can be said that BlueDeer understands the in its industry.’
(A) threat of substitutes
(B) supplier power
(C) entry barriers
(D) rivalry among existing firms
(E) buyer power

11.PetroCo is a premier provider of oil field consultancy services in Dubai. Its consultants are experts on local conditions. Recent
discoveries of metal deposits in its region have spawned attractive new markets outside of the oil field, which PetroCo has been
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unable to exploit. Other global companies with advanced techndlogy have been attracted by this new markets. If PetroCo conducts
a SWOT analysis, what would be one of its weaknesses?

(A) lack of access to cutting-edge technology

(B) recent discoveries of metal deposits

(C) detailed knowledge of local oil markets.

(D) entry of international companies into the market

(E) lack of competitive advantage of nations.

12. In the assembly line of an automobile manufacturer, the car erigine is installed first. After this, the product is passed on to the
next stage where it is fitted with the hood. The product then goes on to the third step in the process where the wheels are fitted.
The above situation, where the finished product of one step becomes the raw material for the next, is an example of
(A) pooled interdependence.

(B) sequential interdependence.

(C) reciprocal interdependence.

(D) task interdependence.

(E) both pooled and sequential interdependence,

13. organizations tend to be slower at making decisions and responding to changes in the business environment. As a
result, these organizations tend to be best smted to stable external environments.
(A) Simple and dynamic
(B) Static and decentralized
(C) Flat and wide
(D) Tall and formal
(E) Learning

14. Kenny is a production supervisor in an automobile manufacturing firm. After evaluating Kenny’s managerial capabilities, some
members of the senior management team feel that average productivity would improve if more workers are assigned to him.
However, some managers have doubt about Kenny's ability to handle more workers. Which of the following statements, if true,
would weaken the argument favoring the increase of Kenny’s span of control?

(A) Kenny has a reputation of handling interpersonal conflicts effectively.

(B) Performance reports from the last few years show that teams that were closely monitored had higher productivity.

(C) Kenny's team consists of highly experienced and skilled labor.

(D) Market trends indicate that the demand for automobiles is expected to increase substantially over the next few years.

(E) Kenny is recelvmg increasing complamts about interpersonal conflicts within the team.

15. A manager motivates his subordinates to work toward achieving the organizational goals even by foregoing their personal welfare.
He does this by modeling the behaviors through his actions. He has created an image of a self-sacrificing leader through his
actions. This manager is a(n) leader.

(A) transactional
(B) informational
(C) situational

(D) charismatic

(E) transformational

16. AcePlus Company is an auto parts manufacturer. Recently it has a number of vacancies at lower management levels and wants to
fill the positions from within the company itself rather then recruit externally. The company plans to e-mail the job specifications
to all employees and post the jobs on company’s Web site. Which of the following, if true, will strengthen the company's
decision? .

(A) The majority of i 1ts employees have only a basic level of education.
(B) The company recently instituted a technical skills improvement program for shop floor employees.
(C) The company favors a paternalistic managerial style and its organization culture tends to be rigid and controlling.
(D) It has been brought to the management's notice that several top performing entry level employees have received offers from
rival companies.
- (E) The company is looking for empioyees with formal and advanced skills.
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17. InterMoney is a company that sells ATMSs, as well as owns, operatés, and manages ATMs for independent financial institutions in
Taiwan. InterMoney follows a vertical organizational structure, and managers at different levels are given different levels of
authority to control employees. The managers at InterMoney dbtain power due to the vertical structure and operations.
(A) expert .

(B) referent
(C) legitimate
(D) reward
(E) coercive

18. Which of the following situations can be seen as an application of leader-member exchange (LMX) theory?

(A) A manager continually attempts to accomplish operational efficiency by rewarding only the better performers.

(B) Sabina, operations manager of a firm, successfully persuades employees to do well by offering rewards in exchange of good
performance.

(C) Robert, the manager of a pharmaceutical company, performs a part of the operational tasks all by himself,

(D) Alex, the factory manager of a manufacturer, continually attempts to maintain a good relationship with the factory workers.
(E) Both C and D applied. '

19. To begin motivating an apathetic associate, a manager informally questions her about her satisfaction with her job's ability to
provide safety, social interaction, self-respect, and opportunities for growth. What theory of motivation is this manager most
likely trying to apply in working with the associate?

(A) Hierarchy of need theory

(B) Expectancy theory

(C) Equity theory

{D) Theory X and Theory Y

(E) Path-Goal Theory

20. A manager wishes to improve the job performance of a group of manufacturing workers in the factory. Based on Herzberg's
theory, would be an appropriate motivator. '
(A) providing them with a better health care plan
(B) setting up a break room where coworkers could socialize
(C) offering them opportunities for achievement and recogtiition
(D) redecorating their offices so that they are pleasant ani comfortable
(E) changing the bonus system

21. Charles, a finance manager of an IT company, devises 3 new child education benefit pldn to partly sponsor the primary education
of their employees’ children. Within the context of the job characteristics model, this is an example of

(A) autonomy

(B) task identity

(C) skill variety

(D) task significance

(E) feedback from the job

2. Which of the following is the best example of selective perception acting as a barrier to interpersonal communication?

(A) A subordinate employee does not make eye contact with his manager when speaking to him.

(B) A customer focuses only on the product's price and ignores the salesperson's advice on quality.

(C) An employee agrees with his boss' suggestions even though he believes his boss is wrong.

(D) An employee misinterprets a colleague's sincere compliment as mockery.

(E) A customer believes that products made in Germany will have high quality because Germans are skillful and well-disciplined.

23. Jenny has just briefed her group of nine about their roles atid responsibilities, but she notices that the members are not yet very
comfortable exchanging information with each other. She also observes that the members frequently end up arguing with each
other because each has a different idea of how the group should function. Jenny’s group is in the stage of group
development. :

(A) storming
(B) norming
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{C) performing
(D) forming
(E) acting

4. Cindy, a manager at a textile company, is bothered by a lack in quality of products manufactured by her company. Cindy hopes
to infuse quality into the company through continuous iriproverhent by involving everyone who works there. This describes
which control philosophy?

(A) Balanced scorecard

(B) Six sigma
(C) Benchmarking

(D) Quality circle
(E) Total quality management

P5. A design team recently took on eight more people to cope with a sudden increase of workload. However, the management noticed
that productivity did not increase significantly after the new members joined, and even decreased in some cases. This can be
attributed to '

(A) group conflict

(B) social loafing

(C) job enlargement

(D) job enrichment

(E) person-job misfit
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